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21-1
D1 = $2.00; g = 5%; b = 0.9; kRF = 5%; RPM = 6%; P0 = ?

ks
= kRF + RPM(b)


= 5% + 6%(0.9)


= 10.4%.

P0
= 
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= $37.04.

21-2
D1 = $2.00; g = 7%; b = 1.1; kRF = 5%; RPM = 6%; P0 = ?

ks
= kRF + RPM(b)


= 5% + 6%(1.1)


= 11.6%.
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$2.00



= $43.48.

21-3
On the basis of the answers in Problems 21-1 and 21-2, the bid for each share should range between $37.04 and $43.48.

21-4
a.
The appropriate discount rate reflects the riskiness of the cash flows to equity investors.  Thus, it is Vaccaro’s cost of equity, adjusted for leverage effects.  Since Apilado’s b = 1, its RPM = kM - kRF = 14% - 8% = 6%, then:

ks = kRF + (kM - kRF)b = 8% + (14% - 8%)1.47 = 16.82% ( 16.8%.

b.
The value of Vaccaro is $14.65 million:

       0          1          2          3          4          5

       |          |          |          |          |          |

                 1.30       1.50       1.75       2.00       2.12

      1.11                                       19.63

      1.10

      1.10                                             
     11.62                                       21.63
V = $14.93 million

CF5 = CF4(1.06) = $2.00(1.06) = $2.12.

Value at t4 of CF5 and all subsequent cash flows is:

V4 = 
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 = $19.63.

Alternatively, input 0, 1.30, 1.50, 1.75, and 21.63(2.00 + 19.63) into the cash flow register, I = 16.8, NPV = ?  NPV = $14.93.

c.
PMax = V/N = $14.93/1.2 = $12.44.

Since Apilado is paying exactly what Vaccaro is worth, the acquisition has a zero net present value and Apilado’s share price should remain at its current price.

21-5
    0         1         2         3                 ADVANCE \r210

    |         |         |         |       ( ( (       |

-400,000    64,000    64,000    64,000             64,000

CF0 = -$400,000; CF1 - CF10 = $64,000; and k = 10%.

NPV = 
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    = $64,000(PVIFA10%, 10) - $400,000

    = $64,000(6.1446) - $400,000

    = $393,254 - $400,000

    = -$6,746.

Alternatively, input -400,000 and 64,000 (10() into the cash flow register, I = 10, NPV = ?  NPV = -$6,747.71.  Since the NPV of the investment is negative, Stanley should not make the purchase.

21-6
a.
Since the net cash flows are equity returns, the appropriate discount rate is that cost of equity which reflects the riskiness of the cash flow stream.  This cost is GCC’s cost of equity: 

ks = kRF + (RPM)b = 8% + (4%)1.50 = 14%.

b.
The terminal value is $1,143.4:

TV = 
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Annual cash flows are calculated as follows:

                 2001       2002       2003       2004  
Sales           $450.0     $518.0     $555.0     $600.0 

COGS            (292.5)    (336.7)    (360.7)    (390.0)

Gross profit    $157.5     $181.3     $194.3     $210.0 

Selling/Admin    (45.0)     (53.0)     (60.0)     (68.0)

EBIT            $112.5     $128.3     $134.3     $142.0 

Interest         (18.0)     (21.0)     (24.0)     (27.0)

EBT             $ 94.5     $107.3     $110.3     $115.0 

Taxes (35%)      (33.1)     (37.6)     (38.6)     (40.3)

Net income      $ 61.4     $ 69.7     $ 71.7     $ 74.8 

The value of GCC to TransWorld’s shareholders is the present value of the cash flows that accrue to the shareholders:

V = 
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 = $877.2.

Alternatively, input 0, 61.4, 69.7, 71.7, and 1,218.2 into the cash flow register, I = 14, NPV = ?  NPV = $877.2.

INTEGRATED CASE
Smitty’s Home Repair Company
Merger Analysis
21-9

SMITTY’S HOME REPAIR COMPANY, A REGIONAL HARDWARE CHAIN THAT SPECIALIZES IN “DO-IT-YOURSELF” MATERIALS AND EQUIPMENT RENTALS, IS CASH RICH BECAUSE OF SEVERAL CONSECUTIVE GOOD YEARS.  ONE OF THE ALTERNATIVE USES FOR THE EXCESS FUNDS IS AN ACQUISITION.  LINDA WADE, SMITTY’S TREASURER AND YOUR BOSS, HAS BEEN ASKED TO PLACE A VALUE ON A POTENTIAL TARGET, HILL’S HARDWARE, A SMALL CHAIN THAT OPERATES IN AN ADJACENT STATE, AND SHE HAS ENLISTED YOUR HELP.

THE TABLE BELOW INDICATES WADE’S ESTIMATES OF HILL’S EARNINGS POTENTIAL IF IT CAME UNDER SMITTY’S MANAGEMENT (IN MILLIONS OF DOLLARS).

                                  2001      2002     2003      2004  
NET SALES                        $60.0     $90.0    $112.5    $127.5

COST OF GOODS SOLD (60%)          36.0      54.0      67.5      76.5

SELLING/ADMINISTRATIVE EXPENSE     4.5       6.0       7.5       9.0

INTEREST EXPENSE                   3.0       4.5       4.5       6.0

NECESSARY RETAINED EARNINGS        0.0       7.5       6.0       4.5

THE INTEREST EXPENSE LISTED HERE INCLUDES THE INTEREST (1) ON HILL’S EXISTING DEBT, (2) ON NEW DEBT THAT SMITTY’S WOULD ISSUE TO HELP FINANCE THE ACQUISITION, AND (3) ON NEW DEBT EXPECTED TO BE ISSUED OVER TIME TO HELP FINANCE EXPANSION WITHIN THE NEW “H DIVISION,” THE CODE NAME GIVEN TO THE TARGET FIRM.  THE RETENTIONS REPRESENT EARNINGS THAT WILL BE REINVESTED WITHIN THE H DIVISION TO HELP FINANCE ITS GROWTH.

HILL’S HARDWARE CURRENTLY USES 40 PERCENT DEBT FINANCING, AND IT PAYS FEDERAL-PLUS-STATE TAXES AT A 30 PERCENT RATE.  SECURITY ANALYSTS ESTIMATE HILL’S BETA TO BE 1.2.  IF THE ACQUISITION WERE TO TAKE PLACE, SMITTY’S WOULD INCREASE HILL’S DEBT RATIO TO 50 PERCENT, WHICH WOULD INCREASE ITS BETA TO 1.3.  FURTHER, BECAUSE SMITTY’S IS HIGHLY PROFITABLE, TAXES ON THE CONSOLIDATED FIRM WOULD BE 40 PERCENT.  WADE REALIZES THAT HILL’S HARDWARE ALSO GENERATES DEPRECIATION CASH FLOWS, BUT SHE BELIEVES THAT THESE FUNDS WOULD HAVE TO BE REINVESTED WITHIN THE DIVISION TO REPLACE WORN-OUT EQUIPMENT.
WADE ESTIMATES THE RISK-FREE RATE TO BE 9 PERCENT AND THE MARKET RISK PREMIUM TO BE 4 PERCENT.  SHE ALSO ESTIMATES THAT NET CASH FLOWS AFTER 2004 WILL GROW AT A CONSTANT RATE OF 6 PERCENT.  SMITTY’S MANAGEMENT IS NEW TO THE MERGER GAME, SO WADE HAS BEEN ASKED TO ANSWER SOME BASIC QUESTIONS ABOUT MERGERS AS WELL AS TO PERFORM THE MERGER ANALYSIS.  TO STRUCTURE THE TASK, WADE HAS DEVELOPED THE FOLLOWING QUESTIONS, WHICH YOU MUST ANSWER AND THEN DEFEND TO SMITTY’S BOARD.

A.

SEVERAL REASONS HAVE BEEN PROPOSED TO JUSTIFY MERGERS.  AMONG THE MORE PROMINENT ARE (1) TAX CONSIDERATIONS, (2) RISK REDUCTION, (3) CONTROL, (4) PURCHASE OF ASSETS AT BELOW-REPLACEMENT COST, (5) SYNERGY, AND 
(6) GLOBALIZATION.  IN GENERAL, WHICH OF THE REASONS ARE ECONOMICALLY JUSTIFIABLE?  WHICH ARE NOT?  WHICH FIT THE SITUATION AT HAND? EXPLAIN.
ANSWER:
[USE S21-1 THROUGH S21-5 HERE.]  THE ECONOMICALLY JUSTIFIABLE RATIONALES FOR MERGERS ARE SYNERGY AND TAX CONSEQUENCES. SYNERGY OCCURS WHEN THE VALUE OF THE COMBINED FIRM EXCEEDS THE SUM OF THE VALUES OF THE FIRMS TAKEN SEPARATELY.  (IF SYNERGY EXISTS, THEN THE WHOLE IS GREATER THAN THE SUM OF THE PARTS, AND HENCE SYNERGY IS ALSO CALLED THE “2 + 2 = 5” EFFECT.)

A SYNERGISTIC MERGER CREATES VALUE THAT MUST BE APPORTIONED BETWEEN THE STOCKHOLDERS OF THE MERGING COMPANIES.  SYNERGY CAN ARISE FROM FOUR SOURCES:  (1) OPERATING ECONOMIES OF SCALE IN MANAGEMENT, PRODUCTION, MARKETING, OR DISTRIBUTION; (2) FINANCIAL ECONOMIES, WHICH COULD INCLUDE HIGHER DEBT CAPACITY, LOWER TRANSACTIONS COSTS, OR BETTER COVERAGE BY SECURITIES’ ANALYSTS THAT CAN LEAD TO HIGHER DEMAND AND, HENCE, HIGHER PRICES; (3) DIFFERENTIAL MANAGEMENT EFFICIENCY, WHICH IMPLIES THAT NEW MANAGEMENT CAN INCREASE THE VALUE OF A FIRM’S ASSETS; AND (4) INCREASED MARKET POWER DUE TO REDUCED COMPETITION.  OPERATING AND FINANCIAL ECONOMIES ARE SOCIALLY DESIRABLE, AS ARE MERGERS THAT INCREASE MANAGERIAL EFFICIENCY, BUT MERGERS THAT REDUCE COMPETITION ARE BOTH UNDESIRABLE AND ILLEGAL.

ANOTHER VALID RATIONALE BEHIND MERGERS IS TAX CONSIDERATIONS.  FOR EXAMPLE, A FIRM THAT IS HIGHLY PROFITABLE AND CONSEQUENTLY IN THE HIGHEST CORPORATE TAX BRACKET COULD ACQUIRE A COMPANY WITH LARGE ACCUMULATED TAX LOSSES, AND IMMEDIATELY USE THOSE LOSSES TO SHELTER ITS CURRENT AND FUTURE INCOME.  WITHOUT THE MERGER, THE CARRY-FORWARDS MIGHT EVENTUALLY BE USED, BUT THEIR VALUE WOULD BE HIGHER IF USED NOW RATHER THAN IN THE FUTURE.

THE MOTIVES THAT ARE GENERALLY LESS SUPPORTABLE ON ECONOMIC GROUNDS ARE RISK REDUCTION, PURCHASE OF ASSETS AT BELOW REPLACEMENT COST, CONTROL, AND GLOBALIZATION.  MANAGERS OFTEN STATE THAT DIVERSIFICATION HELPS TO STABILIZE A FIRM’S EARNINGS STREAM AND THUS REDUCES TOTAL RISK, AND HENCE BENEFITS SHAREHOLDERS.  STABILIZATION OF EARNINGS IS CERTAINLY BENEFICIAL TO A FIRM’S EMPLOYEES, SUPPLIERS, CUSTOMERS, AND MANAGERS.  HOWEVER, IF A STOCK INVESTOR IS CONCERNED ABOUT EARNINGS VARIABILITY, HE OR SHE CAN DIVERSIFY MORE EASILY THAN CAN THE FIRM. WHY SHOULD FIRM A AND FIRM B MERGE TO STABILIZE EARNINGS WHEN STOCKHOLDERS CAN MERELY PURCHASE BOTH STOCKS AND ACCOMPLISH THE SAME THING? 
FURTHER, WE KNOW THAT WELL-DIVERSIFIED SHAREHOLDERS ARE MORE CONCERNED WITH A STOCK’S MARKET RISK THAN ITS STAND-ALONE RISK, AND HIGHER EARNINGS INSTABILITY DOES NOT NECESSARILY TRANSLATE INTO HIGHER MARKET RISK.

SOMETIMES A FIRM WILL BE TOUTED AS A POSSIBLE ACQUISITION CANDIDATE BECAUSE THE REPLACEMENT VALUE OF ITS ASSETS IS CONSIDERABLY HIGHER THAN ITS MARKET VALUE.  FOR EXAMPLE, IN THE EARLY 1980S, OIL COMPANIES COULD ACQUIRE RESERVES MORE CHEAPLY BY BUYING OUT OTHER OIL COMPANIES THAN BY EXPLORATORY DRILLING.  HOWEVER, THE VALUE OF AN ASSET STEMS FROM ITS EXPECTED CASH FLOWS, NOT FROM ITS COST.  THUS, PAYING $1 MILLION FOR A SLIDE RULE PLANT THAT WOULD COST $2 MILLION TO BUILD FROM SCRATCH IS NOT A GOOD DEAL IF NO ONE USES SLIDE RULES.

IN RECENT YEARS, MANY HOSTILE TAKEOVERS HAVE OCCURRED.  TO KEEP THEIR COMPANIES INDEPENDENT, AND ALSO TO PROTECT THEIR JOBS, MANAGERS SOMETIMES ENGINEER DEFENSIVE MERGERS WHICH MAKE THEIR FIRMS MORE DIFFICULT TO “DIGEST.”  ALSO, SUCH DEFENSIVE MERGERS ARE USUALLY DEBT-FINANCED, WHICH MAKES IT HARDER FOR A POTENTIAL ACQUIRER TO USE DEBT FINANCING TO FINANCE THE ACQUISITION.  IN GENERAL, DEFENSIVE MERGERS APPEAR TO BE DESIGNED MORE FOR THE BENEFIT OF MANAGERS THAN FOR THAT OF THE STOCKHOLDERS.

AN INCREASED DESIRE TO BECOME GLOBALIZED HAS RESULTED IN MANY MERGERS.  TO MERGE JUST TO BECOME INTERNATIONAL IS NOT AN ECONOMICALLY JUSTIFIED REASON FOR A MERGER; HOWEVER, INCREASED GLOBALIZATION HAS LED TO INCREASED ECONOMIES OF SCALE.  THUS, SYNERGISM OFTEN RESULTS--WHICH IS AN ECONOMICALLY JUSTIFIABLE REASON FOR MERGERS.

SYNERGY APPEARS TO BE THE REASON FOR THIS MERGER.

B.

BRIEFLY DESCRIBE THE DIFFERENCES BETWEEN A HOSTILE MERGER AND A FRIENDLY MERGER.

ANSWER:
[SHOW S21-6 AND S21-7 HERE.]  IN A FRIENDLY MERGER, THE MANAGEMENT OF ONE FIRM (THE ACQUIRER) AGREES TO BUY ANOTHER FIRM (THE TARGET).  IN MOST CASES, THE ACTION IS INITIATED BY THE ACQUIRING FIRM, BUT IN SOME SITUATIONS THE TARGET MAY INITIATE THE MERGER.  THE MANAGEMENTS OF BOTH FIRMS GET TOGETHER AND WORK OUT TERMS THAT THEY BELIEVE TO BE BENEFICIAL TO BOTH SETS OF SHAREHOLDERS.  THEN THEY ISSUE STATEMENTS TO THEIR STOCKHOLDERS RECOMMENDING THAT THEY AGREE TO THE MERGER.  OF COURSE, THE SHAREHOLDERS OF THE TARGET FIRM NORMALLY MUST VOTE ON THE MERGER, BUT MANAGEMENT’S SUPPORT GENERALLY ASSURES THAT THE VOTES WILL BE FAVORABLE.

IF A TARGET FIRM’S MANAGEMENT RESISTS THE MERGER, THEN THE ACQUIRING FIRM’S ADVANCES ARE SAID TO BE HOSTILE RATHER THAN FRIENDLY.  IN THIS CASE, THE ACQUIRER, IF IT CHOOSES TO, MUST MAKE A DIRECT APPEAL TO THE TARGET FIRM’S SHAREHOLDERS.  THIS TAKES THE FORM OF A TENDER OFFER, WHEREBY THE TARGET FIRM’S SHAREHOLDERS ARE ASKED TO “TENDER” THEIR SHARES TO THE ACQUIRING FIRM IN EXCHANGE FOR CASH, STOCK, BONDS, OR SOME COMBINATION OF THE THREE.  IF 51 PERCENT OR MORE OF THE TARGET FIRM’S SHAREHOLDERS TENDER THEIR SHARES, THEN THE MERGER WILL BE COMPLETED OVER MANAGEMENT’S OBJECTION.

C.

USE THE DATA DEVELOPED IN THE TABLE TO CONSTRUCT THE H DIVISION’S CASH FLOW STATEMENTS FOR 2001 THROUGH 2004.  WHY IS INTEREST EXPENSE DEDUCTED IN MERGER CASH FLOW STATEMENTS, WHEREAS IT IS NOT NORMALLY DEDUCTED IN A CAPITAL BUDGETING CASH FLOW ANALYSIS?  WHY ARE EARNINGS RETENTIONS DEDUCTED IN THE CASH FLOW STATEMENT?
ANSWER:
[USE S21-9 HERE.]  THE EASIEST APPROACH HERE IS TO CREATE CASH FLOW STATEMENTS FOR THE H DIVISION, ASSUMING THAT THE ACQUISITION IS MADE (IN MILLIONS OF DOLLARS).

                                 2001     2002     2003     2004  
     NET SALES                  $60.0    $90.0    $112.5   $127.5

     COST OF GOODS SOLD (60%)    36.0     54.0      67.5     76.5

     SELLING/ADMIN. EXPENSES      4.5      6.0       7.5      9.0

     INTEREST EXPENSE             3.0      4.5       4.5      6.0
       EARNINGS BEFORE TAXES    $16.5    $25.5    $ 33.0    $36.0

     TAXES (40%)                  6.6     10.2      13.2     14.4
       NET INCOME               $ 9.9    $15.3    $ 19.8    $21.6

     RETENTIONS                   0.0      7.5       6.0      4.5
     CASH FLOW                  $ 9.9    $ 7.8    $ 13.8    $17.1
NOTE THAT THESE STATEMENTS ARE IDENTICAL TO STANDARD CAPITAL BUDGETING CASH FLOW STATEMENTS EXCEPT THAT BOTH INTEREST EXPENSE AND RETENTIONS ARE INCLUDED IN MERGER ANALYSIS.  IN STRAIGHT CAPITAL BUDGETING, ALL DEBT INVOLVED IS NEW DEBT THAT IS ISSUED TO FUND THE ASSET ADDITIONS. HENCE, THE DEBT INVOLVED ALL COSTS THE SAME, kd, AND THIS COST IS ACCOUNTED FOR BY DISCOUNTING THE CASH FLOWS AT THE FIRM’S WACC. HOWEVER, IN A MERGER THE ACQUIRING FIRM USUALLY BOTH ASSUMES THE EXISTING DEBT OF THE TARGET AND ISSUES NEW DEBT TO HELP FINANCE THE TAKEOVER.  THUS, THE DEBT INVOLVED HAS DIFFERENT COSTS, AND HENCE CANNOT BE ACCOUNTED FOR AS A SINGLE COST IN THE WACC.  THE EASIEST SOLUTION IS TO EXPLICITLY INCLUDE INTEREST EXPENSE IN THE CASH FLOW STATEMENT.

IN REGARDS TO RETENTIONS, ALL OF THE CASH FLOWS FROM AN INDIVIDUAL PROJECT ARE AVAILABLE FOR USE THROUGHOUT THE FIRM, BUT SOME OF THE CASH FLOWS GENERATED BY AN ACQUISITION ARE GENERALLY RETAINED WITH THE NEW DIVISION TO HELP FINANCE ITS GROWTH.  SINCE SUCH RETENTIONS ARE NOT AVAILABLE TO THE PARENT COMPANY FOR USE ELSEWHERE, THEY MUST BE DEDUCTED IN THE CASH FLOW STATEMENT.

WITH INTEREST EXPENSE AND RETENTIONS INCLUDED IN THE CASH FLOW STATEMENTS, THE CASH FLOWS ARE RESIDUALS THAT ARE AVAILABLE TO THE ACQUIRING FIRM’S EQUITY HOLDERS.  SMITTY’S MANAGEMENT COULD PAY THESE OUT AS DIVIDENDS OR REINVEST THEM IN OTHER DIVISIONS OF THE FIRM, AS THEY SEE FIT.

D.

CONCEPTUALLY, WHAT IS THE APPROPRIATE DISCOUNT RATE TO APPLY TO THE CASH FLOWS DEVELOPED IN PART C?  WHAT IS YOUR ACTUAL ESTIMATE OF THIS DISCOUNT RATE?
ANSWER:
[SHOW S21-10 THROUGH S21-12 HERE.]  AS DISCUSSED ABOVE, THE CASH FLOWS ARE RESIDUALS, AND THEY BELONG TO THE ACQUIRING FIRM’S SHAREHOLDERS.  SINCE INTEREST EXPENSE HAS ALREADY BEEN CONSIDERED, THE CASH FLOWS ARE RISKIER THAN THE TYPICAL CAPITAL BUDGETING CASH FLOWS, AND THEY MUST BE DISCOUNTED USING THE COST OF EQUITY RATHER THAN THE WACC.  FURTHER, THE DISCOUNT RATE MUST REFLECT THE RISKINESS OF THE FLOWS, AND THESE CASH FLOWS HAVE HILL’S BUSINESS RISK, NOT SMITTY’S BUSINESS RISK.  HOWEVER, THE MARKET RISK OF THE H DIVISION IS NOT THE SAME AS THE MARKET RISK OF HILL’S OPERATING INDEPENDENTLY, BECAUSE THE MERGER AFFECTS HILL’S LEVERAGE AND TAX RATE.  SMITTY’S INVESTMENT BANKERS HAVE ESTIMATED THE H DIVISION’S BETA WILL BE 1.3 AFTER THE MERGER AND THE ADDITIONAL LEVERAGE HAS BEEN EMPLOYED.

TO OBTAIN THE REQUIRED RATE OF RETURN ON EQUITY, NOTE THAT kRF = 9% AND RPM = 4%.  THUS, THE H DIVISION’S REQUIRED RATE OF RETURN ON EQUITY, WHICH IS THE APPROPRIATE DISCOUNT RATE TO APPLY TO THE MERGER CASH FLOWS, IS 14.2 PERCENT:


ks(H DIVISION)
= kRF + (kM - kRF)bH DIVISION

 

= 9% + (4%)1.3 = 14.2%.

E.

WHAT IS THE ESTIMATED TERMINAL VALUE OF THE ACQUISITION; THAT IS, WHAT IS THE ESTIMATED VALUE OF THE H DIVISION’S CASH FLOWS BEYOND 2004? 
WHAT IS HILL’S VALUE TO SMITTY’S?  SUPPOSE ANOTHER FIRM WERE EVALUATING HILL’S AS AN ACQUISITION CANDIDATE.  WOULD THEY OBTAIN THE SAME VALUE? EXPLAIN.

ANSWER:
[SHOW S21-13 AND S21-14 HERE.]  THE 2004 CASH FLOW IS $17.1 MILLION, AND IT IS EXPECTED TO GROW AT A 6 PERCENT CONSTANT GROWTH RATE IN 2005 AND BEYOND.  WITH A CONSTANT GROWTH RATE, THE GORDON MODEL CAN BE USED TO VALUE THE CASH FLOWS BEYOND 2004:


TERMINAL VALUE
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= $221.0 MILLION.

ADDING THE TERMINAL VALUE, THE NET CASH FLOW STREAM LOOKS LIKE THIS (IN MILLIONS OF DOLLARS):

                       2001      2002      2003      2004  
ANNUAL CASH FLOW       $9.9      $7.8      $13.8    $ 17.1

TERMINAL VALUE                                       221.0
NET CASH FLOW          $9.9      $7.8      $13.8    $238.1
NOW, THE VALUE OF HILL’S TO SMITTY’S IS THE PRESENT VALUE OF THIS STREAM, DISCOUNTED AT 14.2 PERCENT, OR $163.9 MILLION.

IF ANOTHER FIRM WERE VALUING HILL’S, THEY WOULD PROBABLY OBTAIN AN ESTIMATE DIFFERENT FROM $163.9 MILLION.  MOST IMPORTANT, THE SYNERGIES INVOLVED WOULD LIKELY BE DIFFERENT, AND HENCE THE CASH FLOW ESTIMATES WOULD DIFFER.  ALSO, ANOTHER POTENTIAL ACQUIRER MIGHT USE DIFFERENT FINANCING, OR HAVE A DIFFERENT TAX RATE, AND HENCE ESTIMATE A DIFFERENT DISCOUNT RATE.

F.

ASSUME THAT HILL’S HAS 10 MILLION SHARES OUTSTANDING.  THESE SHARES ARE TRADED RELATIVELY INFREQUENTLY, BUT THE LAST TRADE, MADE SEVERAL WEEKS AGO, WAS AT A PRICE OF $9 PER SHARE.  SHOULD SMITTY’S MAKE AN OFFER FOR HILL’S?  IF SO, HOW MUCH SHOULD IT OFFER PER SHARE?
ANSWER:
[SHOW S21-15 THROUGH S21-20 HERE.]  WITH A CURRENT PRICE OF $9 PER SHARE AND 10 MILLION SHARES OUTSTANDING, HILL’S CURRENT MARKET VALUE IS $9(10) = $90 MILLION.  SINCE HILL’S EXPECTED VALUE TO SMITTY’S IS $163.9 MILLION, IT APPEARS THAT THE MERGER WOULD BE BENEFICIAL TO BOTH SETS OF STOCKHOLDERS.  THE DIFFERENCE, $163.9 - $90.0 = $73.9 MILLION, IS THE ADDED VALUE TO BE APPORTIONED BETWEEN THE STOCKHOLDERS OF BOTH FIRMS.

THE OFFERING RANGE IS FROM $9 PER SHARE TO $163.9/10 = $16.39 PER SHARE.  AT $9, ALL OF THE BENEFIT OF THE MERGER GOES TO SMITTY’S SHAREHOLDERS, WHILE AT $16.39, ALL OF THE VALUE CREATED GOES TO HILL’S SHAREHOLDERS.  IF SMITTY’S OFFERS MORE THAN $16.39 PER SHARE, THEN WEALTH WOULD BE TRANSFERRED FROM SMITTY’S STOCKHOLDERS TO HILL’S STOCKHOLDERS.

AS TO THE ACTUAL OFFERING PRICE, SMITTY’S SHOULD MAKE THE OFFER AS LOW AS POSSIBLE, YET ACCEPTABLE TO HILL’S SHAREHOLDERS.  A LOW INITIAL OFFER, SAY $9.50 PER SHARE, WOULD PROBABLY BE REJECTED AND THE EFFORT WASTED.  FURTHER, THE OFFER MAY INFLUENCE OTHER POTENTIAL SUITORS TO CONSIDER HILL’S, AND THEY COULD END UP OUTBIDDING SMITTY’S. CONVERSELY, A HIGH PRICE, SAY $16, PASSES ALMOST ALL OF THE GAIN TO HILL’S STOCKHOLDERS, AND SMITTY’S MANAGERS SHOULD RETAIN AS MUCH OF THE SYNERGISTIC VALUE AS POSSIBLE FOR THEIR OWN SHAREHOLDERS.

NOTE THAT THIS DISCUSSION ASSUMES THAT HILL’S $9 PRICE IS A “FAIR,” EQUILIBRIUM VALUE IN THE ABSENCE OF A MERGER.  SINCE THE STOCK TRADES INFREQUENTLY, THE $9 PRICE MAY NOT REPRESENT A FAIR MINIMUM PRICE. HILL’S MANAGEMENT SHOULD MAKE AN EVALUATION (OR HIRE SOMEONE TO MAKE THE EVALUATION) OF A FAIR PRICE AND USE THIS INFORMATION IN ITS NEGOTIATIONS WITH SMITTY’S.

G.

WHAT MERGER-RELATED ACTIVITIES ARE UNDERTAKEN BY INVESTMENT BANKERS?
ANSWER:
[SHOW S21-21 HERE.]  THE INVESTMENT BANKING COMMUNITY IS INVOLVED WITH MERGERS IN A NUMBER OF WAYS.  SEVERAL OF THESE ACTIVITIES ARE:  (1) HELPING TO ARRANGE MERGERS, (2) AIDING TARGET COMPANIES IN DEVELOPING AND IMPLEMENTING DEFENSIVE TACTICS, (3) HELPING TO VALUE TARGET COMPANIES, (4) HELPING TO FINANCE MERGERS, AND (5) RISK ARBITRAGE--SPECULATING IN THE STOCKS OF COMPANIES THAT ARE LIKELY TAKEOVER TARGETS.
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